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12. Evaluate each expression. Show all your work.

a) 3 × 5 + 103 × 3 = 3 × 5 + × 3
= +
=

b) 10 + (32 − 1) ÷ 2 − 4 = 10 + ( − 1) ÷ 2 − 4
= 10 + ÷ 2 − 4
= 10 + − 4
= − 4
=

13. Evaluate each expression. Check (✓ ) the correct choice.

a) (3 × 5) × 5 = 3 × 5 × 5 =
= =

The answers are the same, The answers are not the same, 
so brackets are not needed. so brackets are needed.

b) 4 + (32 + 5) × 3 = 4 + 32 + 5 × 3 =
= =
= =
= =

The answers are the same, The answers are not the same, 
so brackets are not needed. so brackets are needed.

c) (42 × 3) ÷ 2 + 1= 42 × 3 ÷ 2 + 1 =
= =
= =
= =

The answers are the same, The answers are not the same, 
so brackets are not needed. so brackets are needed.
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